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8.8 Similar Triangles ,
Part 2

Midsegment of Triangles , Proportions of Triangles ,

Base Angle Theorem

Standards :

GSRT
.

4

GCO
.

10
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# Similar Triangles

Let's recall characteristics of Similar Triangles :

. Same shape
,
but possibly different site

. corresponding sides are proportional
. proving similar triangles by AA

,
SSS

,
SAS .

Let's consider the diagram below
.

Prove DRST ~ IPSQ
.

• s
- Are sides proportional ?

4 5

f*¥TEI¥ ÷÷*£

- Included angle congruent? yes
< S IS ( Reflexive Property)R=•T

so
,
SAS

.
Therefore

,
DRST - DPSQ

.

use could split triangles apart :

I=¥X±i
.

note :
"

s
"

means parallel .
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newaftriangletlidsegmenttheorem
•

Themidsegmentis :

1. Parallel toonesideofthetriangle
- y

2
. lshalfofthelengthofthe parallel
side

3.2
midpoints connecting

.↳*menty
eQuAt0#=

Midsegment  ¥Parallel side

[Exampled Findthe unknown .

�1�
•

@ �3�
•⇒A:t±÷t*.= =

X 8 84
24

midseg . EPS midseg = EPS midseg - IPS

12=2+105 midseg = 'zl8) 3x= £1841

24=105
midseg = 4 3×-4=14
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�4�
05 • -

1 '

f¥÷
.¥¥tH* so

5×-2#x÷i
midseg = tzps midsegetzps

, , = }Ps4= { (5×-2) ×=tz( 24 )
zz=ps

4=51 .

1
z

×= 12 Z= 212=11

5=5×2

yts
5=18001O=sx

y= 1250
2=X

�7�

: 4

HIEA"£ . #sty 4z=×jg4t
g( 10 )=6( ty ) 61×+41=72

90=54 -16g 6×+24=72
36 =6y 6x= 486 =y

×=8
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ABase Angles ( Isosceles

Triangle±tlosahtgoetnttheaosmoruentanoiesfy

B

#
.

C

Examples] Solve frtheunknmn .

�1� at
2*-28=8and 25::

B

#
.

C

A
• 11×-6=71

@××^
11¥'T

71° Ikb3=
(

A
�3� • 67+67-1.7=180

7×-3 1314.7=180x~ ?=46le
 

Ioc
7×-3=46

7x=4÷
.


